1619 - 20 - 21 DUCATO SWB-MWB-LWB
2007 - 2014

PRODUCT : 108 - ABOOS
CODE : 1619




-

..

M6 =10Nm
M8 =25 Nm
M10 =50 Nm

ITEM

PART NUMBER

1

1621108F0 DRIVER

1621108F1 DRIVER

DIN 6923 FLANGE NUT M10

1621108C0 DRIVER

1621108C1 DRIVER

1621108B0 DRIVER

1621108B1 DRIVER

HTC 269 CLIPS (M10)

VIO NoTunh~hWIN

HTC 232 - M10x20 (5X15X60)

HTC 243 - M10x25(5x13x50)

DIN 6921 FLANGE BOLT M10 x 25

1621108B0 PASSENGER

1621108C1 PASSENGER

1621108F1 PASSENGER

1621108C0 PASSENGER

1621108B1 PASSENGER

1621108F0 PASSENGER

MR R R RO OO













1619 - 20 - 21 DUCATO SWB-MWB-LWB

2007 - 2014




